
Wriften Enercises
Solve. Express irrational solutions in simplest radical form. If the equation
has no solution, write ttno solution."

A t. f:64
4.a2:-9
7. l4P:126

10. m2 -54:0
13.4y2+7:19
16. (x + 6)2 : l0
19. (s - 7)2 :28
22. 5(m - 8)2 :25
25.**6r*9:16
28. yt - l8y + 8l: 144

31.!r2-z=1)o
34. 0.49l + 2: 3.96

^l37. 4(x - 2)" = 6
Solve each equation by factoring.

2. (y -'7)2 : o

s. 3l: lOs
s. I - 48:0
tt.6f-18:0
14. 4r2 -7:29
t7. (y - 6)2: 13

20. (z - 3)2 : 3Z

23. 8(.r * 3)2 :56
26. x2 - l4x't 49 : 64

2s.+f-fr:o
32.!x2-+=1bo
35. 1.4422 - 1.36 : -0.64

,r. (, - +)' : -+

41. 7a3 - l75a: o

44. 8x3 :392:-

47. 5(6x - l)2 : 5

1 2- 100r' ' 169

6. 6P:156
9. x2+32:o

12. 7m2 - 42: o
15.322-18:3
18. (y + 2)2: 12

21. 2(x - 5)2 : l8
A. 6(z +,5)z : 42

27. 12 - 22r * l2l:4
so.+P-fr:o
33.P+t&t+8r:225

36.5(/ +U':t
t .(,-+)':+

42.+f-16r:o
45. 8x3 :5lb

48.2(7x-2)2+5:11

40. 7y3 - 28y: g

43. 4b3 - Iu -- o

Solve.

C 46. 3(5x - 2)2:27
49. How many different real-number solutions does a(-r + b)2 : c have ift

a.a>0andc)0?
c. a<0andc)0?

b. al0andc<0?
d. a) 0 and c:0?

tixed Reuiew Enercises
Express each square as a trinomial.

1. (x - ll)2

'. 
('**)',

2.(b+12
u. ('* i)'

3. (6x - 7)2

,. (+. * +)'

4. (-3c + 4)2

r. (+" * +)'
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